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281025

2020

GENERAL MATHEMATICS

Full Marks : 90
Pass Marks : 27

Time : 3 hours

Candidates shall note that each question will be multilingual, viz., in
English/Assamese/Bengali/Bodo/Hindi Medium, for their ready reference. In case of any
discrepancy or confusion in the medium/version, the English version will be considered as
the authentic version.

i The figures in the margin indicate full marks for the questions.

2
Take ™ = —-, wherever necessary.

22
AENSH SPIN ™= —= 3|

22
AN S ™ =~ (T |

, 22
WHW’H’=.7 ol

RS ST

ﬁﬁmmaw=37gmaﬁﬁrql
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(2)
SECTION - A/3 - *I4t/ & - =Mt/ - ar@rir/h - HJ

Choose the cortect answer :
u% Searor IR Sferaedt:
% Gadb @R A13:

& ! ama g
[E WA :

/:./Which of the following is an irrational number ?
AT OEd (@A U AR 7

o @iq 7D Sefaom?

TR et STAfSTan ety ?
frerfefiga # @ #19 & wen s wen §?
22
(a) 0.142857142857142857 ......... (b) -
V4
C —_—
© | @
/Aonsider the following pairs of linear equations : 1
i) 2x—-3y=8, 4x—6y=9

(i) 2x+3y—9=0, 4x+6y—18=0

Choose the correct alternative : ,

(@) The pair in (i) has no solution, whereas the pair in (i) has unique solution.

(b)  The pair in (i) has infinitely many solutions, whereas the pair in (ii) has no solution.
(c) The pairs in (i) and (ii) have no solutions.

(d)  The pair in (i) has no solution, whereas the pair in (ii) has infinitely many solutions.
el (@fE ANSEIT @RERDT RasAr 347

(i) 2x—3y=8, 4x—6y=9

(i) 2x+3y—9=0, 4x+6y—18=0

B Regor 3k Sfered:

(a) (i) TIRCHIR ST A1%, 759 (ii) TWRUOE SROR S w1y |

) (i) WECEE ST STeAe TN SR, Y () W s AR |

(€) (i) S (ii) TR @IFTIZ FAYH 1R |

(d) (i) TWIRCER A 1%, RRE (ii) TWRGE ST Ay S g |

C2-81-B20-GM [ Contd



(3)

ﬁwmw@ﬁwmm@@%mm:
(i) 2x~3y=8,4x—6y=9
(i) 2x+3y—9=0,4x+6y"18=0

¥y Gogt @@ T8 ¢

(a) (i)m@ﬁamﬁﬂﬁ,m(ﬁ)mﬁﬁmww,

(b) (i)mﬂeﬁwﬁwswwm’ﬁ*@(ﬁ)mmwm@
© @) «as i) O corriR T TR

@ () coroifsy s 1, 8 ) TS o sre e sz
e ey SR 9 T T e |
(i) 2x—3y=8,4x—6y=9

(ii) 2x+3y—'9=0,4x+6y—18=0

e wrfE arra e |

(@) () S e, e (i) 1 TR Hgers

() (i)a'uﬁaﬁam%ﬁ%ﬁafﬂﬁwéﬂm(ﬁ)awﬁmﬂm.

(© (i) 3 (i) N ST HAGTE T

) G Eeers Ao i) S st e v wegers

fore Yfigs T ¥ i W A A

() 2x-3y=8, 4x—6y=9

(ii) 2x+3y—9=0,4x+6y—18=0

'ﬂff‘clwil'ﬁi{ﬁ'l:

(a) oI () 1 T T, h A (i) N O A & ¢

(b) T (i) F I T §, TF I (i) T HE T

() T (i) 3 (ii) A g & T

(d) I (i) 1 T T EE I (1) 5 IF & €|

3./'Phe product of the zeroes of 3x2+11x—2 is :
322 +11x—2 I A G0 TN
322 +11x —2 -97 "I 5foa 7otz .
322 +11x —2 T fe@’ WAt gree-
352 +11x —2 % YA 1 TAGH By

2 2 11 11
@3 B -3 © 3 @ -3
C2-51-B20-GM
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(4)

4/’"‘@26"‘ term of the AP0, —4, -8, —q5 _
(L LIT N is :
_ 0, —4, -8, =12, coo... TSI A5MTSTO1g 265 ot T

e
0, —4, -8, —12, ... JWET H5If5TGg 26-3Y ot 57T -
0, -4, -8 —12, . A Sty 26 fy gy ST :
AP0, -4, =8, =12, e, 1 26 3 47 gy
(@) -96 (b) —100 © -104 d) 108

Let ABC be a triangle such that AB=(x_1) cm. AC=2Vx cm, BC=(x+1) cm. Then :

(a) A=90° b) B=90°
(c) C=90° (d)  none of these
ABC fag®® AB=(x—1) cm, AC=2Vx cm, BC=(y+1) cm | (OS2 :
(@) A=90° (b) B=90°
() C=90° (d) BwIRT QOIS =&
ABC fagts AB=(x—1) cm, AC=2Vx cm, BC=(x+1) cm | O :
(a) A=90° (b) B=90°
() C=90° d) agER WFhs 97
ABC sm@r-=emfi AB=(x—1) cm, AC=2Vx cm, BC=(x+1) cm 3= :
(a) A=90° (b) B=90°
(c) C=90° (d) SHRM HFES TS
AABC &, AB=(x—1) cm, AC=2Vx cm 3R BC=(x+1) cm &,  :
(a) A=90° b) B=90°
) C=90° (d) T Q FE o T
6. e point (x, y) is equidistant from the points (7. 1) and (3, 5). Then: 1

(x, y) Rt (7, 1) == (3, 5) R oI SN | (TR
(x, y) Rl (7, 1) @32 (3, 5) g 763 TERST | OIT -

(x, ) Taam (7, 1) 3R (3, 5) Ty AAATSRTA THIT AN | ST -
fiig (x, y) Toigall (7, 1) 3l (3, 5) @ WA &1 A :

(@) x+y=2 (b) —x+y=2
€ x-y=2 o @ —x-y=2
7. 8cosec?A—8cot?A=7 1
(@ © b 1 (c) 8 d 16
C2-51-B20-GM [ Contd.



(5)

8. A-fower stands vertically on the ground. From a point on the ground, which is 15 m
y ower is found

" away from the foot of the tower, the angle of elevation of the top of the t

- to be 307 The height of the tower 1S
Sfte «bt e Semeia Ay oy ST | BEOI AT 41 15 o Ege gho I st
farastar st Mffamga So @19 30° TI1AT 24T | FOE THw! 27 ¢
Gl wafl 88 Semeia Hfew SRl 88 Amiy @ 15 B gaey e e
q#ft v s waiGa Meffaa S I 30° ofiaar o] BefGa Troot T
ST T 2T iR e 2 1 2 TR fore 15 fierfT SIS SR A
TR fafem eanf fafa faift Sinm @ Ardh 30° A S | /g S Sed
o T T T v w1 e o g @, o o e fag 15 m I &, AR
¥ fora &1 T B 30° %1 HHR F AR R
(a) 5V3m (b) 15V3 m (c) 15m (d) ;% o
:9/W-hich of the following statements is correct ? 1
(a) Al circles are congruent. (b)  All squares are similar.
(c)  All isosceles triangles are similar. (d) All rectangles are congruent.
oaq (@00 Ofe BT 7
(@) SRETERER {8 T | (b) AN IR 7T |
() TR iaarz fagred S | (d) STCEIER SO, ST |
frore @W Sfeft 8w 7
(a) SRS @3 FM| (b) RGBT IR TP
(€ SRS ey fagsR T (d) RS SRR |
TR W s ddi ?

(a) TS SR TR |

(b) T et AR |

() TS TR s STrE-er e FE |
(d) TS SR M |
frefafad s @ S @ € ?

(a) @t ga watTam 2 €

) @t wET A

(0 Wit wmfgeTg Prye TmEy & ¥

(d) @it eFd walTE B €

C2-$1-B20-GM [ Contd




(6)

)/The degree measure of the angle at the centre of 5 circle is 0. The length ofanarcofthe
sector is :

q@amﬁﬁ“iﬁﬁmmﬁﬁl ITNDI iy profa 0705 -
q@mmwmﬁa%ﬁwel mﬁﬁaﬂﬁmﬂamh

gt e @' Ff a0 1 F@RIF vy sireenfy e

< forelt g % R T T B H G AR 03 ) fasergs 3 G =9 S A

Omr Orr Orr Orr
@ g ®) Tao © 77 () 360

Where r is the radius of the circle.
'S 1 76 JEOE TP |

T r 36 38104 T |

A r 3 SEE $GAH 9 EE |
%l r g9 W B R

yﬂ‘oes each of volume 64 cm? are joined end to end. The surface area of the resulting 1
, cuboid is : '
AT STROA 64 cm® RFTE Y01 973 7a 47 st Fa1 7| (BIASTDIT [BPIfes T'eT
ATONF SToT 64 cm?® AT g6 w=s sirmenfr o sterarst war =eefl, dieefo

AoSIfeT el :

HAHHET T 64 cm? T 97 SR@! Safusl Safy PHSEAE 6@ | St

AR Teni+ fog Seemsforan S :

A T T ¥ U F A 64 cmd B, F WA Hereh! hl fHeR T 3 SR S 1

THY WIS T 6] JEIT SR ®

(a) _ 48 cm? (b) 64 cm? (©) 80 cm? (d) 160 cm?
AZ./Thesum of the probabilities of all the elementary events of an experiment is : 1

QBT ~181T T A qoAE S W 2e

93f5 8w SRaE A o FIOR TR = .
mmmﬁmmgﬁmmﬁmmﬁmmmmw:

ferelt s it wt wRfven wemel @ wifasharel o 4 § .

(@ 1 (b) 1.25 (€ 15 d) 2

C2-81-B20-GM [ Contd.
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W e /
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"\% (7)

v " gecTION-B /3 - T/ -t g g/ - s

1 .
13. Find the HCF and LCM of 6, 72 t’hezo Using the prime factorisation method. Is the 2
prodict of the numbers equal €0 1€ Product of HCF and LCM ?

/ ARfers BeATRIEIT Amocd o 72, 120 3 SL18. wire o7 o103, BTG | NLAHIDE
Afqerpet, 5118, - IR S T

e Getiaad dafors 6,72, 120 -T 943 &, @32 o718, @@ FET| ALVISEIR
sfgerge, ST, W3R A3 -3 AT ST §Y 2

e T Rt Sea 6, 72 120 2, an. @ sy g, an, . fegd | SATTABREA
TR 2, 3, | AR g 3. H. 7 AT o i

T 6, 72 3R 120 1 3 oES faf §RHCF 3ik LOM 3 Fifw | T GeEst &
WHCFWLCM%@W%W%?

14. 5 and 7 pens together cost ¥ 50, whereas 7 pencils and 5 pens together cost 2
% 46. Find the cost of one pencil and that of one pen.
5 it coifieeT ii% 75T Fene wIN GTees 50 5, WiRirefi 7 O coifieaT ST 501 FeTHa

QI QUEETCsl 46 DF | qote (oifie S b Femg w2

sﬁcmaaeﬁwaawwsoﬁm,wﬁwﬁ;mﬁﬁms 56 et
QT YT 46 TraTl QG (AT @3 4F(G TR T TO ?

ﬁs&ﬁeaaﬂﬁ@ﬁqﬁaﬂmmsomwmﬁﬂﬁwmm@ﬁmﬁa&
T S 46 T 11 Y I T W S ST ?

5ﬁaw7am‘fwya1{ﬂ?5o%,aﬁ7ﬁaam5mﬁfm§aamue%l e

e 7 e U1 Ueh e 1 ed F1d HifeT
}R/How many two-digit numbers are divisible by 57 4t 2
ot ST eArte Reitr 5 «ie Rsren? k
A
i SERFE Tl Feu 5 7/ fers 2 4
T QAT T SR T SsTes 5 o T 2
3 e Al R WEand 59 fasg ¥
[ Contd.
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(8)

16. Fi e coordinates of the point which divides the line segment joining the pointg 2
4, —3)and (8, 5) in the ratio 3 : 1 i.ntemaﬂy_

(4, —3) 1% (8, 5) famg stecarsh CW@asg;Iwmmﬁﬁg@wﬁWWWﬁw
4T

(4, -3) 932 (8, 5) L AN @rters 3, | wene BT A ERAER AR
facfa @l

(4, —3) 3T (8, 5) T T Hrer e ey <firds 3 : 1 F9EaE T faf ey
faam fega |

3w fiig % T T T S fagell (4, —3) st (g, 5) F1 g A TGS FI A 9
¥ 3:1 37y ¥ fowifoa +at §

1(7.U4§A = 1—2—, calculate sinA and cotA. (A is an acute angle.) 2

ZTﬁsecA:%,smAWmtAﬁ‘fﬁﬁTl (A @Ot PHEEIT)

T sec A = % sinA a2 cotA fefy Tl (A GG THIT)

gfcrsecAz%,smAmCotA@ﬁgﬂl(Aaﬂ‘Hﬁ@WE’m)

I secA = ;_Z’ %r?ﬁsmAaﬁTcotAmﬂﬁmﬁiﬁﬁml(AﬁW%)

' = 4 2
y"' Tuate,/ N et /e Fief et/ AA g/ A Ferd
5cos2 60° + 4§ec2 30° — tan?2 45°
sin? 30° + sinZ 60°
[ Contd.
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(9) 281025

M 4A = cosec (A—20°) find the Value of A (4A is an acute angle) 2
Tfit sec 4A = cosec (A—20°) AT T Rty 9 (4A 9By THI)
afi sec 4A =cosec (A—207) A - T ety (4A @3f5 i)
IS sec 4A =cosec (A—-20°), A frA ﬁ@‘ﬂ (4A 31 9FR @' @)
¢ sec 4A = cosec (A_20°),T>T5? (4ATH T ) § 3 A 51 91 99 FHFIC

20. ve mat/ﬁmqﬁm/ﬁmmm/wﬁmﬁ/ﬁ?ﬁﬁnﬁz 2

2 1-cod

cosech — cot
( cotf) 1 + cos@

21. card is drawn from a well-shuffled deck of 52 cards. Find the probability of getting. 2
(i)  aking of red colour
(i) a spade
ST feetat 52 fe Aet qrad oiEAres & «f¥e Bify Sfnedr 2 :
(i) @b IBT TBF IO,
(i) @Ur XFF
oitgIT Seier Ay <7
Wwwmﬁﬁr@sﬁwmaﬁmcﬁmmmml
(@) @D eI BT AT
(M) @0 FHA
sfexd Teife! fAefa FTl
ﬁa@aﬁﬁwaﬁ%mszmﬁaﬁmw“ﬁmww;
() 7T i T T
@) Y TERE
ArArafy semE &g |
50 7 A ﬁmﬁﬁﬂﬁ@@ﬁ@@wﬁﬁmm%l
FHIfT :
(@) e 1 SR
(i) FFHH H A

fir=r =t wifereRan I1@

C2-81-B20-GM 4 Contel
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(10)

SECTION-C/ﬂ-W/ﬁ_W/“_mFﬁ/ﬂ—m

22. Prove that V7 is irrational.

’ AT AT @ V7 Seifaeny |
AT T (@ V7 SAfoR |
BIAM TreW S V7 31 Tsiienfy |
fag FifSa f V7 T st wer &

23. State the Division Algorithm for polynomials,

lvide the polynomial p(x) by the polynomial g(x), and find the quotient and the
remainder.

p(x)=x*-5x+6, g(x)=2—12

2T [ered o [T Sara o4t |

P(x) TXMBIF g(x) ILMCBIT 29 B, Wi Bisiret o1 ST Focfey 1 |
p(x)=x*-5x+6, g(x)=2—x2

ITE faorsH v ARG Sy st

P(x) IRAMTTEE g(x) T2 AT S AT 93 BISET @ BT Yoy T |
2-x2

| ToeTe-TiraRR( YT T fammEmfE 7a’ |

p(x) Terereriiaat g(x) farararirarall T, ST TFTRY TR Ty figger |
p(x) =2 —5x+6, g(x)=2-12

fersor Tt 7 & 2

forvTem weiifte 1 i e, p(x) W gx) N TR WIS qon Syt s SRR

p(x)=x—5x+6, g(x)=2—x2

[

p(x)=x*-5x+6, g(x)

C2-51-B20-GM .+ [Contd
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9 . '
24. A fraction becomes 11 if 2 is added to both the numerator and the denominator. If 3

[

. 5
3 is added to both the numerator and the denominator, it becomes 5 Find the fraction.

_ 9
aﬁrwmaawﬁmmaﬁmmﬁmwmﬁﬁm Tt &7 HF 29

5 .
ATSIPE F51o 3 T T 5, SATAO! ¢ T ot fefr w47

9
Lﬂﬁ@msmm«ﬂasmmwzmﬂwsmeﬁl—lmHﬁmaas'@

#fSToa 1o 3 @t wat =, @é]ﬁfﬁ%:m GﬂTQ"Iﬁﬁ"fﬁml

i S T ST T AR 2 TR S — | R T
mﬁmﬁﬁﬁsmﬁéﬁmm@mgmﬁlmﬁgm

o el o=t 35 o e R A 2@%1‘3?413@?\?33%@31@%1 af st St
ﬁ3sngﬁmarq,a’raz§€rwﬁ%l a%fw—rala‘aﬁﬁm

25.  Solve/STII Tt/ T/ AAGeg g/ &t e : 3

3x2—2V6x+2=0

C2-S1-B20-GM [ Contd.




(12)
26. Sum of the areas of two squares 1s 468 n]z If t.hL 'li_fference Of their periUIEterS is 24 m, 3
- . 2l C
find the sides of the two squares.
0T A5fTFad FIfETa et 468 m?2 | qﬁaquﬁmq@mﬁwu m, I5(0%3 o
ATSTHONE ey fef 7 |

qfS asfrstag wfea ansiwst 468 m2 | ﬂﬁamiﬁammz‘g‘m' fewg
yfoa arefoa ot fcfa s

A arfeae el I 468 m? | fy seigeg A ARAIS I BR
24 m, TrieaTE AR TR e

A1 &l ¥ SRe B A 468 m2 ¥ | A I TR 7 iR 24 m &, T S A B YT I

"W

40
Mfﬂdiﬂat‘fs of a point A, where AB is a diameter of a circle whose centre 3

is (2, —3) and B is (1, 4).

BT TS T AB | (TR T (2. -3) S BT T (1, 4) T, A T TFIT B
i [4 -kar—

F4T

931G J087 AT AB | @UHR EAIE (2, —3) 93 B -9T FIF (1, 4) X0, A -7 TAIE

fadfa st

T St @ AB | firef et o (2, —3) 3R B 4 ey farrn (1, 4) wreer A f

graf o fega!

ﬁgA%ﬁ%&ﬁmaﬁaﬁﬁmaﬁww@aﬁwm%mh@ -

BR (1, 4)1

C2-51-B20-GM [ Contd.



28. Find the sum of first 51 terms of an Ap Whose Second and third terms are 14 and 18

W

respectively.

BT SReT Aeifisr faok orie ol %EBT@CW14?5¢T$13| SIS TIATIF 20 5157 v

Mg @S ey 4T |

N,

93fG sia Asifod Fasia Uae DOl oy T @0 14 w32 18 | smisy WG 2w

D

516 sig @msiws T et

s s ST A e T e 14 191 e o 2
51 TR e g |

wm%uw51ﬁmmmm,m%w#ﬁmmm:143#1118%[ —

ATA

23. D and E are points on the sides CA and CB respectively of a triangle ABC right angled 3
J
C:-//a’c(-f. Prove that AE?+BD?=AB2+ DE2.

ABC M fagsa £C el | CA =% CB A17® aiermi D o1 E 751 R | emret

P41 (T AE2+BD2=AB2+DE? |

ABC S fagts £C M| CA @32 CB A0 D 932 E qU@w g6 |

AT T T AE2+BD2=AB2+ DE? |

D 3 E 3N ABC G sTrafer amfy C o @l CA 1R CB f1 amam ad fard

HIAM @™ € AE2+ BD2= AB24 DR2 |

T TS ABC TSR 101 C oo 3, st sy CA 9 CB W 5hm: f8ig D ol E feea €1
' m ﬁ‘ﬁﬁﬁ‘lﬁ? AE2+BD2=AB2+DE2%I

C2-S1-B20-GM < | [ Contd.

ad

A

A

<




(14)

30.  Find the are: . . ints of the sides of th
/)h( e area of the triangle formed by joining the mlddle po e

[

Y

~
o

triangle whose vertices are (0, —1), (2,1) and (0, 3).

9Bt e My fofbia wmies (o, -1), 2, 1) w® O 3) | fapeb 17 fofittr
WHSTTeRD SieeTy T (ANl RagebiT w1y Shrad |

9ff fagrem My fsafoa wmm (o, ~1), @2 1) @2 O 3) | g a2 feaftg
WY@ Aoy ded ANeA fagwita wif qr 3@

A ot fufa fo demfy ety e o, - 1) @ A (0,3) | STETHw
SR Sy SR o) et i sraifad T fog |

st (0, —1), (2, 1) 3R (0, 3) T Frgw # amaﬁtqw—ﬁﬁaﬁﬁﬁméﬁﬂﬁmﬁm
T Hif |

Md the area of the sector of a circle with radius 4 cm and angle 30°. Also, find the 3
area of the corresponding major sector. (use w=3.14)
4 cm TGS IS QBT 30° (1T Q5T JePTR FIfeT fefy 4T | FoTS AR T
e BT fiefy ot (w=3.14 TR7 4RT)
4 om THHIE QTG J0aT 30° T 9HfG JTF Ife Fyefa Fat ) ofeer SIgaet 43
Faaetfta Fifer fofa Feart (w=3.14 I )
4 o |G T A AT 30° @ T TR Temsfy g s AfE R
Jgrafy T Rg | (mw=3.14 T €M)
4 cm BT SR O 9 3 PSSl I H, ot o 3008 e @, wna 4
fars 1 AR S A FR | (=314 T T T

C2-S1-B20-GM [Contd-
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SECTION - D /% = /¥ - 3t /%t _ it r - aqrm

32.  Solve the pair of equations by 764U them to a pair of linear equations. 4
e St afke eadta R8T B s
e sisaer oot e AT TSI S ST et |
TeTAF qHHens W gt FHHETE S Herer AT e |
it it % g =) s o 6 I § 95e W F T Hi

1 1
+
x+y 3x-y

=
4

1 _ 1
2B3x +y) 2(3x-—y)

-1
8

33. If ghe areas of two similar triangles are equal, prove that they are congruent.
qBr st frgoa BT ST %G1, ot it (o g o1 ST |
afg orpt fagre Fifer T 2@, et pear @, faget wft o |

wmmmwmmm,wﬁwﬁmmmvm
|

afe 2 gwed Fgel & mmﬁmm@mﬁaﬁgﬁmmm

[ Contd.
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(16)
Jonger when the

40 m
Wadow of a tower standing on a level ground is fouﬂd to ]zzwer. (Take 3= 1.732)
Sun’s altitude is 30° than when it is 60°. Find the h eight of the
i) 60° T Ry
SIS Mol 3RS A 2 ¥ aﬁm%@ﬁ@aﬁﬁ (557 ot el 3
Reer 7@, BoF (@I9 30° 77 ST 40 m @y GeaeT 20 | WL
(V3=1.732 3fe1 4fedt)

. o T® A
Wmmemﬁ@mwmﬁmwmwmm%iﬁﬂ © Y 27,

S5 19T 30° TE OIF (TE 40 m @ Bl 7 gl TP /
~

’
/

(V3=1.732 T €AW /-

T AT S T e s awf s (S 8 ) 60" P 30° e
40 m =T || Wﬁﬁ"fﬂﬁ@‘lﬁgﬁl(m:Lmz{ﬁﬁ el

@maaanﬁm@a}uﬁmﬁmwﬁaﬁﬁmmaﬁ%ﬁﬁwﬁ%m@m
I 60° | THL 30° B S § ﬁﬂnﬁ:‘ﬁggﬁmﬂﬁql(«laﬂ.%zmmaﬁﬁqo

MEA all the sides of a parallelogram touch a circle, show that the parallelogram is athombus. 4
Tf Bt STERe SIBRPLE! I QB J§F =1 FE, TSt (T AMBRBOT Qb /R |

afi ft Tefitea TRSE IR 9H /@ = F@, e @, At 9 i

T
St 1) fermeeeeft MR s AR e i, R i e e T

fag Fifvre f ferelt 90 % wftm ot w4 T Wy &

C2-51-B20-GM | [ Contd
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. - IVeN ty 5
fwmﬂ a triangle similar to @ 87 tiangle ABC with its sides equal to 5 of the 4

AB ;
gle ABC, (Write the steps of construction.)

?ﬁg

aﬁrﬁﬁ‘@ﬁ@ﬁﬁcamwmﬁwmﬁﬁmmmﬂcw

corresponding sides of the trial

Wﬁmgeqﬁml (TP HETY fofdr )

a3fe fffe fage ABC -a7 7T O 931 fagst o et aite g ARSCE ABC

fagSia Sg@e ISR % &TIT ST 3| (TFET S 1meseet foT4@)

By for sTEfere ABC Fi We G ST ) T T S e e A SreEeer

ABCMWWMWW%W%Wl (3nfEE MTeRE! fer 1)
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SECTION - E /& - =31 /g ‘W/@-W’ﬁ/g-m

37. Fipd the area of the shaded region in the where a circular arc of radius 5
cm has been drawn with vertex O of an E:El:f:?av{’triangle OAB of side 12 cm as
centre.

oere foae SRt BT Ff iy w31 1'c 12 cm AZT QBT AR fageE
W0$mmﬁﬁﬁ6cmmqﬁmmﬁﬁ?ﬁml

Frarrs fota wmmifits w=eTia SR Fidy o qrar 12 cm A28 9310 TR fagrew
TRy O & @4 R 4 6 cm AP Qo g8 B ST IR

T ISR W €T Saerst Jearsty fegd, s 12 cm amEft 9FY TR STy
WWMO@WWW 6 cm @A TSGR A7l SfEE
|

i § SR W 1 Sl T HITAT, T YT 12 cm T Th A Fst OAB & e
O g HH T 6 cm PR a1 T g =g it T ¥ ‘
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A toy is in the form of a cone of radius 35 e 4o on a hemisphere of same 5

radius. The total height of the toy is 15.5 cm, Find the total surface area of the toy.
B o 97w TS B O S0 3.5 o aypriges bt g
STIET § Toow! 27 155 cm | TOTGR g sppuifer ey 531 |
Q3G Cvorl @ I @I ST @y 3.5 cm aspITE @ fs =7 At
oo 1 cuerifba ot Swvot 2@ 155 em | ciemiffy ouity sy fdfa st
R I 3.5 cm W ETE R AR S T W i wreeRf S S T |
BT TR Seg 15.5 cm | RN T Ty Teemsyr fieg
T @l 3.5 cm B o0 T UF & SR &1 3, W 36 Be Ol TF el W
Femifen §1 39 fac = G $9E 155 om #1 79 fae w1 gl g S T
HIT
38. tI'he median of the following data is 525. Find the values of x and y;, if the total frequency 5
\ o ©UR T 27 525 | xwwm@%@nﬁqkﬁw@mo |
- fACE G TYWT xCET 525 | x 998 y -9d N [ @ i @I I9LII9el 100 27|

TS B W I e 525 | x 3R y 71 7 g it m& e 100 S
frfofiaa el 1 Teas 525 ¥ Afg SReRamsil &1 IW 100 §, @ x X y &1 71 I

HIfWT |

Class interval | 0-100|100-200 [200-300|300-400 {400-500|500-600 | 600-700|700-800800-900 | 900-1000| 800-900 {900-1000

1 St
et S
urE @R
1 ST

Frequency | 2 | 5 x | 12 | 17 | 20 y 9 7 4 7 3
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